# A FAMILY OF SERIES AND INTEGRALS INVOLVING WHITTAKER, BESSEL FUNCTIONS, AND THEIR PRODUCTS DERIVABLE FROM THE REPRESENTATION OF THE GROUP $\operatorname{SO}(2,1)$ 

Junesang Choi and I. A. Shilin


#### Abstract

By mainly using certain properties arising from the semisimple Lie group $S O(2,1)$, we aim to show how a family of some interesting formulas for bilateral series and integrals involving Whittaker, Bessel functions, and their product can be obtained.


## 1. Introduction and preliminaries

It is well known that the irreducible representations of the three-dimensional Lorentz group $S O(2,1)$ can be constructed in the space of $\sigma$-homogeneous infinitely differentiable functions $(\sigma \in \mathbb{C} \backslash \mathbb{Z})$ defined on the cone

$$
\Lambda:=\left\{\left(x_{1}, x_{2}, x_{3}\right) \in \mathbb{R}^{3} \mid x_{1}^{2}-x_{2}^{2}-x_{3}^{2}=0\right\}
$$

Here and in the following, we denote $\mathbb{Z}, \mathbb{R}$ and $\mathbb{C}$ by the sets of integers, real and complex numbers, respectively. For the fixed $\sigma$ with $-1<\Re(\sigma)<0$, we denote this space by $\mathfrak{D}$ and the analogous space consisting of $\varsigma$-homogeneous functions when $\varsigma:=-\sigma-1$ by $\mathfrak{D}^{\bullet}$. The linear operator of the space $\mathfrak{D}$, arising in this case and corresponding to the Lorentz group element $g$, can be written in the form $T(g)[f(x)]=f\left(g^{-1} x\right)$. Since the functions belonging to $\mathfrak{D}$ are homogeneous, we can realize the representation $T_{\sigma}$ in the space of the restrictions $\hat{f}$ of functions $f \in \mathfrak{D}$ to any conic section $\gamma$, because $\hat{f}(\xi)=t^{-\sigma} f(t \xi)=t(x)$ for $\xi \in \gamma$. Vilenkin and Shleinikova [15] considered the following three sections of $\Lambda$ : The circle $\gamma_{1}: x_{1}=1$; The hyperbola $\gamma_{2}: x_{2}= \pm 1$; The parabola $\gamma_{3}: x_{1}+x_{2}=1$. They introduced three bases in $\mathfrak{D}$, which consist of the eigenfunctions of the restrictions of the representation $T$ to the subgroups $H_{i}$ acting transitively on the above conic sections, respectively, and obtained formulas for 'matrix

[^0]elements' of the linear operator, which transforms the 'circle' basis into the 'parabolic' basis, and some 'matrix elements' of the linear operator, which transforms the 'parabolic' basis into the 'hyperbolic' basis.

Here, we denote the 'circle' and 'parabolic' bases by $B_{1}$ and $B_{2}$, respectively. Namely,

$$
B_{1}:=\left\{f_{k}(x):=x_{1}^{\sigma-k}\left(x_{2}+\mathbf{i} x_{3}\right)^{k} \mid k \in \mathbb{Z}\right\}
$$

and

$$
B_{2}:=\left\{f_{\lambda}^{*}(x): \left.=\left(x_{1}+x_{2}\right)^{\sigma} \exp \left(\frac{\mathbf{i} \lambda x_{3}}{x_{1}+x_{2}}\right) \right\rvert\, \lambda \in \mathbb{R}\right\}
$$

Just as matrix elements of a linear operator can be computed by using a scalar product, the matrix elements of the operators $B_{1}^{\bullet} \leftrightarrow B_{2}^{\mathbf{\bullet}}$ and $T(g)$, $g \in S O(2,1)$, can be derived via the functionals

$$
\mathrm{F}_{i}: \mathfrak{D} \times \mathfrak{D}^{\bullet} \longrightarrow \mathbb{C},(f, g) \longmapsto \int_{\gamma_{i}} f(x) g(x)(\mathrm{d} x)_{i} \quad(i \in\{1,2\})
$$

where $(\mathrm{d} x)_{i}$ is a $H_{i}$-invariant measure. Shilin and Choi [9] computed the matrix elements of the operator, which acts in the $S O(3,1)$-representation space and transforms the 'spherical' basis into the 'hyperbolic' basis, and obtained the corresponding integral formulas for Legendre functions arising around these matrix elements. Shilin and Choi [12] computed the matrix elements of the operator $T^{\bullet}(a) \in G L(S O(2,1))$ for some block-diagonal matrices and evaluated some integrals involving a product of two Bessel functions (basic or modified). Shilin and Choi $[10,11]$ have employed the same idea which was in [12] for $S O(2,2)$ and $S O(3,1)$, respectively. In particular, Shilin and Choi [11] evaluated some integrals involving a product of the Macdonald function and the modified hyper-Bessel function of the first or second kind.

In this paper, we reconsider the group $S O(2,1)$ and compute the matrix elements of the operator $T^{\bullet}\left(g_{i}\right)$ with respect to the basis $B_{3-i}^{\bullet}$. By using the matrix elements of the transformations $B_{1}^{\bullet \bullet} \leftrightarrow B_{2}^{\bullet}$ and decompositions $G=$ $K A N$ (Iwasawa decomposition) and $G=K A K$ (Cartan decomposition) of Lie groups, we obtain some formulas for series and integrals involving Whittaker or Bessel functions or their product. In particular, in Theorem 1, we consider series involving product of two Whittaker functions $W_{k, \mathbf{i} \tau}$, where $k$ or $-k$ is the parameter of series. Some similar integrals involving the same product, where the variable of integration is $\tau$, are pointed out to be considered in [1].

## 2. Some series involving one or two Whittaker functions of the second order

Ceratin bilateral series involving a product of two Whittaker functions $W_{k, \mu}$ and one Whittaker function are evaluated as in Theorem 1. In the following, $\Gamma(z)$ and $B(\alpha, \beta)$ are the familiar Gamma and Beta functions (see, e.g., [13, Section 1.1]), respectively, $J_{\nu}(z)$ and $K_{\nu}(z)$ are Bessel functions of the first kind and modified Bessel functions (Macdonald functions) (see, e.g., [4, Sections $8.4-8.5$, p. 900]), respectively, $W_{\lambda, \mu}(z)$ are the Whittaker functions (see, e.g.,
[4, Sections $9.22-9.23$, p. 1014]), and ${ }_{2} F_{1}$ is the hypergeometric function (see, e.g., [13, Section 1.5]).

Theorem 1. Let $\theta \neq \pi n$, where $n \in \mathbb{Z}$ with $n \equiv 1(\bmod 2)$. Then the following formulas hold true:

- For $-1<\Re(\sigma)<0$,

$$
\begin{aligned}
& \sum_{k \in \mathbb{Z}} \exp (-\mathbf{i} k \theta)\{\Gamma(1+\sigma+k \operatorname{sign} \hat{\lambda}) \Gamma(-\sigma-k \operatorname{sign} \lambda)\}^{-1} \\
& \quad \times W_{k \operatorname{sign} \hat{\lambda}, \sigma+\frac{1}{2}}(2|\hat{\lambda}|) W_{-k \operatorname{sign} \lambda, \sigma+\frac{1}{2}}(2|\lambda|)=\Theta(\operatorname{sign}(\lambda \hat{\lambda}))
\end{aligned}
$$

where

$$
\Theta(1)=-\frac{1}{\pi} \sec ^{2} \frac{\theta}{2}(\lambda \hat{\lambda})^{\frac{1}{2}} \sin (\pi \sigma) K_{2 \sigma+1}\left(2\left|\sec \frac{\theta}{2}\right| \sqrt{\lambda \hat{\lambda}}\right)
$$

and

$$
\begin{aligned}
\Theta(-1)= & \frac{1}{2} \sec ^{2} \frac{\theta}{2}|\lambda \hat{\lambda}|^{\frac{1}{2}} \cos (\pi \sigma) \\
& \times\left[J_{-2 \sigma-1}\left(2\left|\sec \frac{\theta}{2}\right| \sqrt{|\lambda \hat{\lambda}|}\right)-J_{2 \sigma+1}\left(2\left|\sec \frac{\theta}{2}\right| \sqrt{|\lambda \hat{\lambda}|}\right)\right] .
\end{aligned}
$$

- For $-\frac{1}{2}<\Re(\sigma)<0$ and $\lambda \neq 0$,

$$
\sum_{k \in \mathbb{Z}} \exp (-\mathbf{i} k \theta)\{\Gamma(-\sigma-k \operatorname{sign} \lambda) \mathrm{B}(k-\sigma,-k-\sigma)\}^{-1} W_{-k \operatorname{sign} \lambda, \sigma+\frac{1}{2}}(2|\lambda|)
$$

$$
=2^{-\sigma-1} \pi^{-1}(-2 \sigma-1)|\lambda|^{-\sigma}\left(\cos \frac{\theta}{2}\right)^{4 \sigma} \sin (\pi \sigma) \Gamma(2 \sigma+1) .
$$

- For $-\frac{1}{2}<\Re(\sigma)<0$ and $\hat{\lambda} \neq 0$,

$$
\begin{aligned}
& \sum_{k \in \mathbb{Z}} \exp (-\mathbf{i} k \theta)\{\Gamma(1+\sigma+k \operatorname{sign} \hat{\lambda}) \mathrm{B}(k-\sigma,-k-\sigma)\}^{-1} W_{k \operatorname{sign} \lambda, \sigma+\frac{1}{2}}(2|\hat{\lambda}|) \\
= & 2^{-\sigma-1} \pi^{-1}(2 \sigma+1)|\hat{\lambda}|^{\sigma+1}\left(\sec \frac{\theta}{2}\right)^{4 \sigma+4} \sin (\pi \sigma) \Gamma(-2 \sigma-1) .
\end{aligned}
$$

Proof. Let us consider the matrix elements $t_{\lambda \hat{\lambda}}(g)$ of the representation $T^{\bullet}$ with respect to the basis $B_{2}^{\bullet}$. Since

$$
\begin{equation*}
T^{\bullet}(g)\left[f_{\lambda}^{* \bullet}(x)\right]=\int_{-\infty}^{+\infty} t_{\lambda \hat{\lambda}}(g) f_{\hat{\lambda}}^{* \bullet}(x) \mathrm{d} \hat{\lambda} \tag{2.1}
\end{equation*}
$$

we have

$$
\mathrm{F}_{i}\left(T^{\bullet}(g)\left[f_{\lambda}^{* \bullet}\right], f_{\tau}^{*}\right)=\int_{-\infty}^{+\infty} t_{\lambda \mu}(g) \mathrm{F}_{j}\left(f_{\hat{\lambda}}^{* \bullet}, f_{\tau}^{*}\right) \mathrm{d} \hat{\lambda}
$$

for any $i$ and $j$. Taking

$$
\mathrm{F}_{3}\left(f_{\hat{\lambda}}^{* \bullet}, f_{\tau}^{*}\right)=\int_{-\infty}^{+\infty} \exp (\mathbf{i}[\mu+\tau] y) \mathrm{d} y=\delta(\mu+\tau)
$$

where $\delta(\mu+\tau)$ is the $(-\tau)$-delayed Dirac delta function, we obtain

$$
\mathrm{F}_{i}\left(T^{\bullet}(g)\left[f_{\lambda}^{* \bullet}\right], f_{\tau}^{*}\right)=\int_{-\infty}^{+\infty} t_{\lambda \mu}(g) \delta(\mu+\tau) \mathrm{d} \hat{\lambda}=2 \pi t_{\hat{\lambda},-\tau}(g)
$$

Thus we have

$$
\begin{equation*}
t_{\lambda \hat{\lambda}}(g)=\frac{1}{2 \pi} \mathbf{F}_{i}\left(T^{\bullet}(g)\left[f_{\lambda}^{* \bullet}\right], f_{-\hat{\lambda}}^{*}\right) . \tag{2.2}
\end{equation*}
$$

By using the connection $f_{\lambda}^{* \bullet}(x)=\sum_{k \in \mathbb{Z}} c_{\lambda k} f_{k}^{\bullet}(x)$ between the bases $B_{1}^{\bullet}$ and $B_{3}^{\bullet}$, we have

$$
t_{\lambda \hat{\lambda}}(g)=\frac{1}{2 \pi} F_{i}\left(\sum_{k \in \mathbb{Z}} c_{\lambda k} T^{\bullet}(g)\left[f_{k}^{\bullet}\right], \sum_{\tilde{k} \in \mathbb{Z}} c_{-\tilde{\lambda} \tilde{k}} f_{\tilde{k}}\right)
$$

Let $g_{1}$ be the rotation through an angle $\theta$ in the plane generated by axes $O x_{2}$ and $O x_{3}$. The matrix representation of $g_{1}$ is

$$
g_{1} \longleftrightarrow\left(\begin{array}{rrr}
1 & 0 & 0 \\
0 & \cos \theta & \sin \theta \\
0 & -\sin \theta & \cos \theta
\end{array}\right)
$$

$g_{1} \in H_{1}$ and $f_{k}$ is the eigenfunction of the operator $T^{\bullet}\left(g_{1}\right)$ associated with the eigenvalue $\exp (-\mathbf{i} k \theta)$. The matrix elements of the linear operator that transforms $B_{1}^{\bullet \bullet}$ into $B_{2}^{\bullet \bullet}$ were computed for $\lambda \neq 0$ in [15] and for $\lambda=0$ in [12]:
$c_{\lambda k} \equiv c_{\lambda k}(\sigma)= \begin{cases}|\lambda|^{-\sigma-1}\{\Gamma(-\sigma-k \operatorname{sign} \lambda)\}^{-1} W_{-k \operatorname{sign} \lambda, \sigma+\frac{1}{2}}(2|\lambda|), & \text { if } \lambda \neq 0, \\ 2^{\sigma+1}\{(-2 \sigma-1) \mathrm{B}(k-\sigma,-k-\sigma)\}^{-1}, & \text { if } \lambda=0 .\end{cases}$
Thus, choosing $i=1$ in (2.2) and taking the basis $B_{1}^{\bullet}$ which is orthonormal with respect to the bilinear functional $\frac{1}{2 \pi} F_{1}$, we obtain

$$
\begin{aligned}
t_{\lambda \hat{\lambda}}\left(g_{1}\right)= & |\hat{\lambda}|^{\sigma}|\lambda|^{-\sigma-1} \sum_{k \in \mathbb{Z}} \exp (-\mathbf{i} k \theta)\{\Gamma(1+\sigma+k \operatorname{sign} \hat{\lambda})\}^{-1} \\
& \times\{\Gamma(-\sigma-k \operatorname{sign} \lambda)\}^{-1} W_{k \operatorname{sign} \hat{\lambda}, \sigma+\frac{1}{2}}(2|\hat{\lambda}|) W_{-k \operatorname{sign} \lambda, \sigma+\frac{1}{2}}(2|\lambda|)
\end{aligned}
$$

Let us represent $g_{1}$ as a product

$$
g_{1}=h_{1} \operatorname{diag}(1,-1,-1) h_{2} h_{1},
$$

where $h_{1}$ belongs to the maximal nilpotent subgroup $H_{3}$ and depends on the only parameter $\theta^{*}$, and $h_{2}$ is the hyperbolic rotation through an angle $\theta^{* *}$ in the plane generated by axes $O x_{1}$ and $O x_{2}$. Taking the matrix representations

$$
h_{1} \longleftrightarrow\left(\begin{array}{rrr}
1+\frac{\theta^{* 2}}{2} & \frac{\theta^{* 2}}{2} & \theta^{*} \\
-\frac{\theta^{* 2}}{2} & 1-\frac{\theta^{* 2}}{2} & -\theta^{*} \\
\theta^{*} & \theta^{*} & 1
\end{array}\right), \quad h_{2} \longleftrightarrow\left(\begin{array}{rrr}
\cosh \theta^{* *} & \sinh \theta^{* *} & 0 \\
\sinh \theta^{* *} & \cosh \theta^{* *} & 0 \\
0 & 0 & 1
\end{array}\right)
$$

we have

$$
\left\{\begin{array}{l}
\frac{1}{2} \theta^{* 4} \exp \left(-\theta^{* *}\right)+\theta^{* 2} \exp \left(-\theta^{* *}\right)+\cosh \theta^{* *}-\theta^{* 2}=1 \\
\frac{1}{2} \theta^{* 4} \exp \left(-\theta^{* *}\right)+\sinh \theta^{* *}-\theta^{* 2}=0 \\
\theta^{* 3} \exp \left(-\theta^{* *}\right)+\theta^{*} \exp \left(-\theta^{* *}\right)-\theta^{*}=0 \\
\theta^{* 2}+\theta^{* 2} \exp \left(-\theta^{* *}\right)-\frac{1}{2} \theta^{* 4} \exp \left(-\theta^{* *}\right)-\cosh \theta^{* *}=\cos \theta \\
\theta^{* 3} \exp \left(-\theta^{* *}\right)-\theta^{*} \exp \left(-\theta^{* *}\right)-\theta^{*}=-\sin \theta
\end{array}\right.
$$

that is, $\frac{2 \theta^{*}}{\theta^{* 2}+1}=\sin \theta$ and, therefore, $\theta^{*}=\tan \frac{\theta}{2}$ and $\exp \left(-\theta^{* *}\right)=\left(\theta^{* 2}+1\right)^{-1}=$ $\cos ^{2} \frac{\theta}{2}$. Since $T^{\bullet}$ is a group homomorphism and for any $g \in S O(2,1)$ the functional $\mathrm{F}_{3}$ is invariant with respect to the pair $\left(T(g), T^{\bullet}(g)\right)$ of operators arising in the corresponding spaces [12], we derive

$$
\begin{aligned}
t_{\lambda \hat{\lambda}}\left(g_{1}\right) & =\frac{1}{2 \pi} \mathrm{~F}_{3}\left(T^{\bullet}\left(h_{2} h_{1}\right)\left[f_{\lambda}^{* \bullet}\right], T\left(\operatorname{diag}(1,-1,-1) h_{1}^{-1}\right)\left[f_{-\hat{\lambda}}^{*}\right]\right) \\
& =\frac{1}{2 \pi} \sec ^{2} \frac{\theta}{2} \int_{-\infty}^{+\infty} y^{2 \sigma} \exp \left(\mathbf{i} \sec ^{2} \frac{\theta}{2}\left[\lambda y-\frac{\hat{\lambda}}{y}\right]\right) \mathrm{d} y
\end{aligned}
$$

and use the following formulas:

- $\lambda \hat{\lambda}>0$ (see, e.g., [7, Entry 2.5.24.4]),

$$
\begin{gathered}
\int_{0}^{+\infty} x^{\alpha-1} \cos \left(a x-\frac{b}{x}\right) \mathrm{d} x=2\left(\frac{b}{a}\right)^{\frac{\alpha}{2}} \cos \left(\frac{\alpha \pi}{2}\right) K_{\alpha}(2 \sqrt{a b}) \\
(a, b>0 ;|\Re(\alpha)|<1) .
\end{gathered}
$$

- $\lambda \hat{\lambda}<0$ (see, e.g., [7, Entry 2.5.24.7]).

$$
\begin{gathered}
\int_{0}^{+\infty} x^{\alpha-1} \cos \left(a x+\frac{b}{x}\right) \mathrm{d} x=\frac{\pi}{2}\left(\frac{b}{a}\right)^{\frac{\alpha}{2}} \sin \left(\frac{\alpha \pi}{2}\right)\left[J_{-\alpha}(2 \sqrt{a b})-J_{\alpha}(2 \sqrt{a b})\right] \\
(a, b>0 ;|\Re(\alpha)|<1) .
\end{gathered}
$$

- $\lambda \neq 0$ and $\hat{\lambda}=0$ (see, e.g., [7, Entry 2.5.3.10]).

$$
\begin{gather*}
\int_{0}^{+\infty} x^{\alpha-1} \cos (b x) \mathrm{d} x=b^{-\alpha} \cos \left(\frac{\alpha \pi}{2}\right) \Gamma(\alpha)  \tag{2.3}\\
(b>0 ; \quad 0<\Re(\alpha)<1) .
\end{gather*}
$$

- $\lambda=0$ and $\hat{\lambda} \neq 0$.

Substitute $x=z^{-1}$ and use the formula (2.3).
By comparing the results for $t_{\lambda \hat{\lambda}}\left(g_{1}\right)$ and $t_{\lambda \hat{\lambda}}\left(h_{1} \operatorname{diag}(1,-1,-1) h_{2} h_{1}\right)$, we completes the proof.

## 3. Some integrals involving a product of Bessel and Whittaker functions

Throughout this section, we assume that $\theta \neq \pi n(n \in \mathbb{Z}$ with $n \equiv 1$ $(\bmod 2))$. Here we establish a formula for certain integrals involving Bessel functions of the first kind, Macdonald functions, and Whittaker functions, which is asserted by Theorem 2.

Theorem 2. For $-1<\Re(\sigma)<0$ and $\lambda>0$, the following formula holds true:

$$
\begin{aligned}
& \frac{1}{2} \cos (\pi \sigma)\{\Gamma(k-\sigma)\}^{-1} \int_{0}^{+\infty}\left[J_{-2 \sigma-1}\left(2\left|\sec \frac{\theta}{2}\right| \sqrt{\lambda \hat{\lambda}}\right)\right. \\
& \left.-J_{2 \sigma+1}\left(2\left|\sec \frac{\theta}{2}\right| \sqrt{\lambda \hat{\lambda}}\right)\right] W_{k, \sigma+\frac{1}{2}}(2 \hat{\lambda}) \mathrm{d} \hat{\lambda} \\
& \left.-\frac{1}{\pi} \sin (\pi \sigma) \Gamma(-k-\sigma)\right\}^{-1} \int_{0}^{+\infty} K_{2 \sigma+1}\left(2\left|\sec \frac{\theta}{2}\right| \sqrt{\lambda \hat{\lambda}}\right) W_{-k, \sigma+\frac{1}{2}}(2 \hat{\lambda}) \mathrm{d} \hat{\lambda} \\
= & \lambda^{-\frac{1}{2}}\left(\cos \frac{\theta}{2}\right)^{2} \exp (-\mathbf{i} k \theta)\{\Gamma(-k-\sigma)\}^{-1} W_{-k, \sigma+\frac{1}{2}}(2 \lambda) .
\end{aligned}
$$

Proof. Taking the connection between the bases $B_{1}^{\bullet}$ and $B_{2}^{\boldsymbol{\bullet}}$, we rewrite (2.1) for the case $g=g_{1}$ in the following manner:

$$
\begin{equation*}
T^{\bullet}\left(g_{1}\right)\left[f_{\lambda}^{* \bullet}(x)\right]=\sum_{k \in \mathbb{Z}}\left(\int_{-\infty}^{+\infty} t_{\lambda \hat{\lambda}}\left(g_{1}\right) c_{\hat{\lambda} k} \mathrm{~d} \hat{\lambda}\right) f_{k}^{\bullet}(x) \tag{3.1}
\end{equation*}
$$

Since $f_{k}^{\bullet}$ is an eigenfunction of the operator $T^{\bullet}\left(g_{1}\right)$ associated with the eigenvalue $\exp (-\mathbf{i} k \theta)$, we have

$$
\begin{equation*}
T^{\bullet}\left(g_{1}\right)\left[f_{\lambda}^{* \bullet}(x)\right]=\sum_{k \in \mathbb{Z}} c_{\lambda k} \exp (-\mathbf{i} k \theta) f_{k}^{\bullet}(x) \tag{3.2}
\end{equation*}
$$

By using formulas for $c_{\lambda k}$ and $t_{\lambda \hat{\lambda}}\left(g_{1}\right)$ given in the proof of Theorem 1, from (3.1) and (3.2) we derive the desired result.

A similar integral formula can be established for the case $\lambda<0$. For the case $\lambda=0$, we obtain an integral formula asserted by Theorem 3 .

Theorem 3. For $-\frac{1}{2}<\Re(\sigma)<0$, the following formula holds true:

$$
\begin{align*}
& \int_{-\infty}^{+\infty} \hat{\lambda}^{2 \sigma+1}|\hat{\lambda}|^{-\sigma-1}\{\Gamma(-\sigma-k \operatorname{sign} \hat{\lambda})\}^{-1} W_{-k \operatorname{sign} \hat{\lambda}, \sigma+\frac{1}{2}}(2|\hat{\lambda}|) \mathrm{d} \hat{\lambda}  \tag{3.3}\\
= & 2^{\sigma+1} \frac{\pi(2 \sigma+1)}{\Gamma(-2 \sigma-1) \Gamma(k-\sigma) \Gamma(-k-\sigma) \cos (\sigma \pi)} .
\end{align*}
$$

Proof. The formula (3.3) follows from (3.1) and (3.2), where $g_{1}$ is the identity matrix, that is, $\theta=0$.

Setting here $k=0$ and using a known formula (see, e.g., [4, Entry 8.476.5]):

$$
\begin{equation*}
K_{\nu}\left(\mathrm{e}^{m \pi \mathbf{i}} z\right)=\mathrm{e}^{-m \nu \pi \mathbf{i}} K_{\nu}(z)-\mathbf{i} \pi \frac{\sin (m \nu \pi)}{\sin (\nu \pi)} I_{\nu}(z) \tag{3.4}
\end{equation*}
$$

we obtain

$$
\begin{aligned}
& \int_{0}^{+\infty} \hat{\lambda}^{\sigma+\frac{1}{2}}\left(K_{\sigma+\frac{1}{2}}(\hat{\lambda})+\mathbf{i} \pi \cos (\sigma \pi) I_{\sigma+\frac{1}{2}}(\hat{\lambda})\right) \mathrm{d} \hat{\lambda} \\
= & 2^{\sigma} \frac{\pi^{\frac{3}{2}}(2 \sigma+1)}{\Gamma(-2 \sigma-1) \Gamma(-\sigma) \cos (\sigma \pi)} .
\end{aligned}
$$

## 4. The cosine-Fourier transform of squared Macdonald function

Here we present a formula for the cosine-Fourier transform of squared Macdonald function given in Theorem 4.

Theorem 4. For $-1<\Re(\sigma)<0$, the following formula holds true:

$$
\begin{aligned}
& \int_{0}^{+\infty}\left\{K_{\sigma+\frac{1}{2}}(\lambda)\right\}^{2} \cos (b \lambda) \mathrm{d} \lambda \\
= & \frac{\pi^{2}}{4} \operatorname{cosec}(\pi \sigma) \exp \left(-\mathbf{i} b_{1} k\right) \exp \left(\sigma b_{2}\right)_{2} F_{1}\left(-\sigma, \frac{1}{2} ; 1 ; 1-\exp \left(-2 b_{2}\right)\right)
\end{aligned}
$$

where

$$
\begin{equation*}
b_{1}=b_{3}-\pi=\arccos \frac{b}{\sqrt{b^{2}+4}} \quad \text { and } \quad \cosh b_{2}=\frac{b^{2}}{2}+1 \tag{4.1}
\end{equation*}
$$

Proof. Let $g_{2}(b) \in H_{3}$, that is, there is $b \in \mathbb{R}$ such that

$$
g_{2}=\left(\begin{array}{rrr}
1+\frac{b^{2}}{2} & \frac{b^{2}}{2} & b \\
-\frac{b^{2}}{2} & 1-\frac{b^{2}}{2} & -b \\
b & b & 1
\end{array}\right) .
$$

Let

$$
f_{k}^{\bullet}(x)=\int_{-\infty}^{+\infty} \tilde{c}_{k \lambda} f_{\lambda}^{* \bullet}(x) \mathrm{d} \lambda \quad \text { and } \quad T^{\bullet}(g)\left[f_{k}^{\bullet}(x)\right]=\sum_{k \in \mathbb{Z}} t_{k \hat{k}}(g) f_{\hat{k}}^{\bullet}(x) .
$$

We readily obtain

$$
\tilde{c}_{k \lambda}(\sigma)=\frac{1}{2 \pi} \mathbf{F}_{i}\left(f_{k}^{\bullet}, f_{-\lambda}^{*}\right)=c_{-\lambda,-k}(-\sigma-1)
$$

and, therefore,

$$
\begin{align*}
t_{k \hat{k}}\left(g_{2}\right) & =\frac{1}{2 \pi} \int_{-\infty}^{+\infty} \tilde{c}_{k \lambda} \tilde{c}_{\hat{k},-\lambda} \exp (-\mathbf{i} b \lambda) \mathrm{d} \lambda \\
& =\frac{1}{2 \pi} \int_{-\infty}^{+\infty} c_{-\lambda,-k}(-\sigma-1) c_{\lambda,-\hat{k}}(\sigma) \exp (-\mathbf{i} b \lambda) \mathrm{d} \lambda \tag{4.2}
\end{align*}
$$

Let us represent $g_{2}$ as a product $g_{2}=\tilde{h}_{1}\left(b_{1}\right) \tilde{h}_{2}\left(b_{2}\right) \tilde{h}_{3}\left(b_{3}\right)$, where $\tilde{h}_{1}, \tilde{h}_{3} \in H_{1}$ and $\tilde{h}_{2}$ belongs to the subgroup of hyperbolic rotations in the plane generated by axes $O x_{1}$ and $O x_{2}$. By solving the system of equations

$$
\left.\left.\begin{array}{rl} 
& \left(\begin{array}{rrr}
1+\frac{b^{2}}{2} & \frac{b^{2}}{2} & b \\
& -\frac{b^{2}}{2} & 1-\frac{b^{2}}{2}
\end{array}\right. \\
& b \\
& b
\end{array}\right) 1 . b\right), ~\left(\begin{array}{rrr}
1 & 0 & 0 \\
0 & \cos b_{1} & -\sin b_{1} \\
0 & \sin b_{1} & \cos b_{1}
\end{array}\right)\left(\begin{array}{rrr}
\cosh b_{2} & \sinh b_{2} & 0 \\
\sinh b_{2} & \cosh b_{2} & 0 \\
0 & 0 & 1
\end{array}\right)\left(\begin{array}{rrr}
1 & 0 & 0 \\
0 & \cos b_{3} & -\sin b_{3} \\
0 & \sin b_{3} & \cos b_{3}
\end{array}\right),
$$

we obtain the relations (4.1), that is,

$$
g_{2}=\tilde{h}_{1}\left(b_{1}\right) \tilde{h}_{2}\left(b_{2}\right) \operatorname{diag}(1,-1,-1) \tilde{h}_{1}\left(b_{1}\right)
$$

Since $T^{\bullet}$ is a group homomorphism, $\left(\tilde{h}_{i}\left(b_{i}\right)\right)^{-1}=\tilde{h}_{i}\left(-b_{i}\right)$ for any $i$, and $\mathbf{F}_{1}$ is invariant with respect to the pair $\left(T^{\bullet}, T\right)$, we have

$$
\begin{aligned}
t_{k \hat{k}}\left(g_{2}\right)= & \frac{1}{2 \pi} \mathrm{~F}_{1}\left(T^{\bullet}\left(h_{1}\right) T^{\bullet}\left(h_{2}\right)\left[f_{k}^{\bullet}\right], T\left(h_{3}^{-1}\right) T(\operatorname{diag}(1,-1,-1))\left[f_{-\hat{k}}\right]\right) \\
= & \frac{1}{2 \pi \exp \left(\mathbf{i}\left(\pi+b_{1}\right) \hat{k}\right)} \int_{-\pi}^{\pi} \exp (\mathbf{i}(k+\hat{k}) \varphi)\left(\cosh b_{2}-\sinh b_{2} \cos \varphi\right)^{\sigma-k} \\
& \times\left(\cosh b_{2} \cos \varphi-\sinh b_{2}+\mathbf{i} \sin \varphi\right)^{k} \mathrm{~d} \varphi .
\end{aligned}
$$

By using 'universal' substitution $t=\tan \frac{\varphi}{2}$, we obtain

$$
\begin{equation*}
t_{00}\left(g_{2}\right)=\frac{\exp \left(\sigma b_{2}\right)}{2 \pi^{2} \exp \left(\mathbf{i}\left(\pi+b_{1}\right) \hat{k}\right)} \int_{0}^{+\infty}\left(1+t^{2}\right)^{-\sigma-1}\left(\exp \left(-2 b_{2}\right)+t^{2}\right)^{\sigma} \mathrm{d} t \tag{4.3}
\end{equation*}
$$

The integral (4.3) can be evaluated by using the following known formula (see [4, Entry 3.259.3]):

$$
\begin{aligned}
& \int_{0}^{+\infty} x^{\lambda-1}\left(1+\alpha x^{p}\right)^{-\mu}\left(1+\beta x^{p}\right)^{-\nu} \mathrm{d} x \\
&= \frac{1}{p} \alpha^{-\frac{\lambda}{p}} \mathrm{~B}\left(\frac{\lambda}{p}, \mu+\nu-\frac{\lambda}{p}\right){ }_{2} F_{1}\left(\nu, \frac{\lambda}{p} ; \mu+\nu ; 1-\frac{\beta}{\alpha}\right) \\
&(|\arg (\alpha)|,|\arg (\beta)|<\pi, p>0,0<\Re(\lambda)<2 \Re(\mu+\nu)) .
\end{aligned}
$$

Finally comparing formulas (4.2) for $k=\hat{k}=0$ and (4.3), we obtain the desired result.

## 5. Concluding remarks

Theorem 2 is a generalization of [12, Theorem 1] which was derived by using the restriction of the representation $T^{\bullet}$ to the diagonal matrix $\operatorname{diag}(1,-1,-1)$.

Theorem 4 can be considered as a new approach that differs from the formula (see [8, Entry 2.16.36.2]):

$$
\begin{gather*}
\int_{0}^{+\infty} \cos (a x) K_{\nu}(b x) K_{\nu}(c x) \mathrm{d} x=\frac{\pi^{2}}{4 \sqrt{b c} \cos (\pi \nu)} P_{\nu-\frac{1}{2}}\left(\frac{a^{2}+b^{2}+c^{2}}{2 b c}\right)  \tag{5.1}\\
\left(\Re(b+c)>|\Im(a)|, \Re(\nu)<\frac{1}{2}\right),
\end{gather*}
$$

which does not use functions $a_{1}(a)$ and $a_{2}(a)$ in the right side.
The approach employed in this paper looks a good starting point for further research: By using various decompositions of the group $S O(2,1)$, formulas of the transformations $B_{1} \leftrightarrow$ 'hyperbolic basis' $B_{3}$ and $B_{2} \leftrightarrow B_{3}$, formulas for the matrix elements of the operator $T^{\bullet}(h)$ with respect to the $B_{1}^{\bullet}$ or $B_{2}^{\bullet}$, where $h$ belongs to the transitive subgroup of a hyperbolic section of $\Lambda$, and formulas for the matrix elements of the $T^{\bullet}\left(g_{1}\right)$ and $T^{\bullet}\left(g_{2}\right)$ with respect to the $B_{3}^{\bullet}$, it seems possible to obtain new formulas for the special functions related to the group $S O(2,1)$.

Bessel functions play an important role, in particular, in investigating solutions of various differential equations, and are associated with a wide range of problems in many research areas of mathematical physics. So, Bessel functions, and their extensions and variants have been investigated by many authors (see, e.g., $[2,3,5,6,14])$.

Acknowledgments. The authors would like to express their deep-felt thanks for the reviewers' useful comments.

## References

[1] P. A. Becker, On the integration of products of Whittaker functions with respect to the second index, J. Math. Phys. 45 (2004), no. 2, 761-773.
[2] J. Choi, P. Agarwal, S. Mathur, and S. D. Purohit, Certain new integral formulas involving the generalized Bessel functions, Bull. Korean Math. Soc. 51 (2014), no. 4, 995-1003.
[3] K. S. Gehlot and S. D. Purohit, Integral representations of the $k$-Bessel's function, Honam Math. J. 38 (2016), no. 1, 17-23.
[4] I. S. Gradshteyn and I. M. Ryzhik, Table of Integrals, Series, and Products, Academic Press, 2007.
[5] D. Kumar, S. D. Purohit, A. Secer, and A. Atangana, On generalized fractional kinetic equations involving generalized Bessel function of the first kind, Math. Probl. Eng. 2015 (2015), Article ID 289387, 7 pages.
[6] K. S. Nisar, S. D. Purohit, and S. R. Mondal, Generalized fractional kinetic equations involving generalized Struve function of the first Kind, J. King Saud University-Sci. 28 (2016), no. 2, 167-171.
[7] A. P. Prudnikov, Yu. A. Brychkov, and O. I. Marichev, Integrals and Series, Vol. 1: Elementary Functions, OPA (Overseas Publishers Association), Amsterdam B. V. Published under the license of Gordon and Breach Science Publishers, 1986.
[8] , Integrals and Series, Vol. 2: Special Functions, OPA (Overseas Publishers Association), Amsterdam B. V. Published under the license of Gordon and Breach Science Publishers, 1986.
[9] I. A. Shilin and J. Choi, Certain connections between the spherical and hyperbolic bases on the cone and formulas for related special functions, Integral Transforms Spec. Funct. 25 (2014), no. 5, 374-383.
[10] , Integral and series representations of special functions related to the group $S O(2,2)$, Ramanujan J. (2016) DOI 10.1007/s11139-016-9799-8.
[11] _ Improper integrals associated with the Bessel functions and their multi-index analogues, Appl. Math. Sci. 10 (2016), no. 34, 1683-1692.
[12] _ Certain relations between Bessel and Whittaker functions related to some diagonal and block-diagonal $3 \times 3$-matrices, Submitted.
[13] H. M. Srivastava and J. Choi, Zeta and q-Zeta Functions and Associated Series and Integrals, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
[14] H. M. Srivastava, K. A. Selvakumaran, and S. D. Purohit, Inclusion properties for certain subclasses of analytic functions defined by using the generalized Bessel functions, Malaya J. Mat. 3 (2015), no. 3, 360-367.
[15] N. J. Vilenkin and M. A. Sleinikova, Integral relations for the Whittakers functions and the representations of the three-dimensional Lorentz group, Math. USSR Sb. 10 (1970), 173-180.

Junesang Choi
Department of Mathematics
Dongguk University
Gyeonguu 38066, Korea
E-mail address: junesang@mail.dongguk.ac.kr
I. A. Shilin

Department of Higher Mathematics
National Research University "MPEI"
Krasnokazarmennaya 14, Moscow 111250, Russia
And
Department of Algebra
Moscow State Pedagogical University
Malaya Pirogovskaya 1, Moscow 119991, Russia
E-mail address: ilyashilin@li.ru; shilinia@mpei.ru


[^0]:    Received January 26, 2017; Accepted May 19, 2017.
    2010 Mathematics Subject Classification. Primary 33C10, 33C80; Secondary 33B15, 33C05.

    Key words and phrases. Whittaker function, Bessel functions, Macdonald function, semisimple Lie group $S O(2,1)$, Cartan decomposition, matrix elements of representation.

